20125E3H 250 ~9A30REESN BEER (eEPRR6, FDMERIR) JTA/RAC
EDRRZELR eE DR 26
XRS HAR 13X HAR I 3% HARI I % HAR I X% HAR 3% HARII X

4/1-26. w|4/27-5/6. 5 | 771319, 5 . 5 i 4/1-26. | 4/27-5/6. 3 )| 7/13-19. 3 3 3 3

5/7-7/5 | BIBIED|Y) 50" BBIED| 7/6-12 MBI g BIFIHD)|3/25-31 FIF1HQ@)|7/20-8/2 F3IHKQR)| 8/3-16 FFEQ)| 5 Jn |MIED|y, 50" WBIED| 7/6-12 BEQ)| gy, FIFIH@)|3/25-31 F31H@)|7/20-8/2 FFIKQ)| 8/3-16 | FFI%Q
1 JTA 36,300 11%| 36,300 11%| 38,500 10%| 38,500 10%| 42,400 1%| 42,400 1%| 42,400 1%| 35,500 13%| 35,500 13%| 38,500 10%| 38,500 10%| 42,400 1%| 42,400 1%| 42,400 1%)
2 JTA 30,100 12%| 30,100 12%| 32,600 10%| 32,600 10%| 35,900 1% 35,900 1%| 35,900 1%| 29,000 15%| 29,000 15%| 32,600 10%| 32,600 10%| 35,900 1%| 35,900 1%| 35,900 1%)
3 JTA 23,800 13%| 23,800 13%| 26,200 11%| 26,200 11%| 29,100 2%| 29,100 2%| 29,100 2%| 22,500 18%| 22500 18%| 26,200 11%| 26,200 11%| 29,100 2%| 29,100 2%| 29,100 2%
4 JTA 50,500 15%| 50,500 15%| 53,400 13%| 53,400 13%| 61,000 1%| 61,000 1%| 61,000 1%| 42,850 28%| 42,850 28%| 53,400 13%| 53,400 13%| 61,000 1%| 61,000 1%| 61,000 1%)
5 JTA 47,200 15%| 47,200 15%| 50,000 13%| 50,000 13%| 57,200 1%| 57,200 1%| 57,200 1%| 40,400 27%| 40,400 27%| 50,000 13%| 50,000 13%| 57,200 1%| 57,200 1%| 57,200 1%)
6 JTA -— - - -— 46,200 13%| 46,200 13%| 52,800 1%| 52,800 1%| 52,800 1% — - -— -— 46,200 13%| 46,200 13%| 52,800 1%| 52,800 1%| 52,800 1%)
7 JTA 41,500 14%| 41,500 14%| 43,900 13%| 43,900 13%| 50,100 1%| 50,100 1%| 50,100 1%| 35,500 27%| 35,500 27%| 43,900 13%| 43,900 13%| 50,100 1%| 50,100 1%| 50,100 1%)
8 JTA -— - 39,900 15%| — - - - - -— -— - - - - - 39,900 15%| — -— -— -— -— -— -— -— -— -—
9 JTA -— - 45,600 14% — - - - - -— -— - - - - - 45,600 14%| — -— -— -— -— -— -— -— -—
10 JTA 36,200 11%| 36,200 11%| 38,400 10%| 38,400 10%| 42,400 1%| 42,400 1%| 42,400 1%| 33,400 18%| 33,400 18%| 38,400 10%| 38,400 10%| 42,400 1%| 42,400 1%| 42,400
11 JTA 32,650 15%| 32,650 15%| 36,400 11%| 36,400 11%| 40,300 1%| 40,300 1%| 40,300 1%| 31,000 20%| 31,000 20%| 36,400 11%| 36,400 11%| 40,300 1%| 40,300 1%| 40,300
12 | R =h$E GRE) JTA 30,100 12%| 30,100 12%| 31,900 12%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900 1%| 27,750 19%| 27,750 19%| 31,900 12%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900
13 | S (BFH) =FH18 JTA 19,000 17%| 19,000 17%| 20,500 15%| 20,500 15%| 23,600 2%| 20,500 15%| 23,600 2%| 17,200 25%| 17,200 25%| 20,500 15%| 20,500 15%| 23,600 2%| 20,500 15%| 23,600
14 | (BT ==& |JTA/RAC] 9,900 43%) 14,500 17%[ 9,900 47%| 15,700 16%| 9,900 47%| 15,700 16%| 18,100 3% 9,800 44%| 13,200 25%| 9,800 47%) 15,700 16%| 9,800 47%|) 15,700 16%| 18,100
15 | AiE=E% RAC 9,900 17% 9,900 17%| 10,800 13%| 10,800 13%| 11,900 4% 10,800 13%| 11,900 4% 8,650 27% 8,650 27%| 10,800 13%| 10,800 13%| 11,900 4%| 10,800 13%| 11,900
16 | i (FRER) = A K5 [JTA/RAC] 9,700 18% 9,700 18%| 10,700 13%| 10,700 13%| 11,800 4% 10,700 13%| 11,800 4% 8,600 27% 8,600 27%| 10,700 13%| 10,700 13%| 11,800 4%| 10,700 13%| 11,800
17 | AiEE=5RE JTA/RAC| 9,700 18% 9,700 18%| 10,700 13%| 10,700 13%| 8,250 33%| 10,700 13%| 11,800 4% 8,600 27% 8,600 27%| 10,700 13%| 10,700 13%| 8,250 33%| 10,700 13%| 11,800
18 | 8 () =5k RAC 12,400 13%| 12,400 13%| 13,900 9%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800 3%| 12,300 13%| 12,300 13%| 13,900 9%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800
19 | BB =FEXE RAC 20,700 11%| 20,700 11%| 22,200 9%| 22,200 9%| 23,900 2%| 22,200 9%| 23,900 2%| 19,950 14%| 19,950 14%| 22,200 9%| 22,200 9%| 23,900 2%| 22,200 9%| 23,900
20 | h#B(AER) =MAR| RAC 22,100 11%| 22,100 11%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%| 21,150 15%| 21,150 15%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600
21 | h#B(AHH) =L KE| RAC 22,100 11%| 22,100 11%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%| 21,150 15%| 21,150 15%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600
22 | IAR=JLXE RAC 7,100 14% 7,100 14%| 7,600 8% 7,600 8%| 7,600 8%| 7,600 8%| 7,600 8% 7,050 15% 7,050 15%| 7,600 8% 7,600 8%| 7,600 8%| 7,600 8%| 7,600
2| EE=%2EM RAC 7,300 14% 7,300 14%| 7,800 8% 7,800 8%| 5450 36%| 7,800 8%| 7800 8% 7,250 15% 7,250 15%| 7,800 8% 7,800 8%| 5450 36%| 7,800 8%| 7.800
24 | h#B(AER) =5HE| RAC 26,600 16%| 26,600 16%| 28400 15%| 28400 15%| 32,900 1%| 28400 15%| 32,900 1% 21,750 31%| 21,750 31%| 28,400 15%) 28400 15%) 32,900 1%| 28,400 15%) 32900

X [ESRREOR, e EVRRE
SR (BT =FRIE. Bh. AKE, 5k, BEXEXE, BAR. LXE. 5BE. RE=4. 5HE.
BMAR=1tXR., Bt =2 REKIER
,,,,, BAM L - 4/1-7/5, 9/1-9/30 HARA I :7/6-8/2, 8/17-8/31 . HARMIN : 3/25-3/31. 8/3-8/16
S Z bR CRRIRICE A
HARG I : 4/1-7/5. 9/1-9/30  #ARS W : 7/6-7/19, 8/17-8/31 HARGIN : 3/25-3/31. 7/20-8/16
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JAL/JTA/JAC/RAC

EEEE]

L i LR minim@| sronns mzE0|, LSS maiEo|, V250 maiEe|ians B3E)

RE-HEGEH) | JTA | RE-FEFH) 9,400 59% 9,400 59% 9,400 59%| 16,100 33% 9,700 60%

AiE-EH  |JTA/RAC RAiE-BG 4,900 59% 4,900 59% 4,900 59% 8,200 34% 4,900 60%
FiE—5BE |[JTA/RAC] FIE—5HE 4,900 58% 4,900 58% 4,900 58% 5,700 54% 4,900 60%
AE-FR JTA AE-FH 40,700 31%| 40,700 31%| 40,700 31% 41,200 33% 41,200 33%
FiE—HEX JTA | BiE—HEBREH) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39%
JAL/JTA| P8 (BRER) — 3 | 26,200 36% 26,200 36% 26,200 36% 26,500 38%| 26,500 38%
[ (RER) ] it 40,700 36% 40,700 36% 40,700 36% 41,200 39% 41,200 39%
HiE—KR JTA HiE— KR 33,500 31% 33,500 31% 33,500 31% 33,950 33%| 33,950 33%
FiE— KR JTA | BiE—HEREH) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39%
JAL/JTA| #E (BRER) —KBR | 19,000 44%| 19,000 44%| 19,000 44%| 19,250 47% 19,250 47%
[ (ARER) it 33,500 41%| 33,500 41%| 33,500 41%| 33,950 44% 33950 44%
RIE—LZEHE JTA RIE—LEHE — — — — 38,650 27%  — — — —

RiE-AHE JTA | BiE— 4 (RE) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39%
JTA  (HE(RER) —2EEF 24,150 37% 24,150 37% 24,150 37% 24,750 39% 24,750 39%

[ (RER) ] £ 38,650 37% 38,650 37% 38,650 37% 39,450 39% 39,450 39%

FiE—1EM[ JTA | BiE—$#E (BH) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39%

JTA | 48 (B %) — &M 16,100 41%| 16,100 41%| 16,100 41%| 17,250 42% 17,250 42%

(8 (ARE) ) H 30,600 39% 30,600 39% 30,600 39% 31,950 41%| 31,950 41%

B — () [JTA/RAC| B —$#& (I ) 9,800 44% 6,100 65% 11,950 32% 9,800 47% 12,550 33%

i JTA i 38,100 31%| 38,100 31%| 38,100 31%| 38,700 33% 38,700 33%
BEi— AR JTA e PN — — — — 32,050 32%  — — — —

mH—KR |JTA/RAC| B — 48 (A ) 9,800 44% 6,100 65% 11,000 37% 9,800 47% 11,200 40%
JAL/JTA| 48 (ARER) —KBR | 21,050 38% 21,050 38% 21,050 38%| 22,300 39% 22,300 39%

(B (ARE) ) it 30,850 40%| 27,150 47%| 32,050 38%| 32,100 42%| 33,500 39%
XK B — 8 (BRER | JTA/RACIA K B —iH#8 (IR 5 4,900 58% 4,900 58% 4,900 58% 5,700 54% 4,900 60%
ARE—RH JTA ARE—RR — — — — — — — — | 35800  33%

EBRE—+4# (FREH| RAC |5IE—+4 (HEH 12,900 59%| 12,900 59% 12,900 59% 22,100 34% 13,300 60%
BERE—&TEXE| JAC |ERE—EFEKXKE 15,750 32% 15,750 32% 15,750 32% 16,150 36%| 16,150 36%
BERE—fEZE JAC BERE—fEZS 18,500 31% 18,500 31% 18,500 31% 18,500 36% 18,500 36%
ERE—EFE JAC BERE-—EBFE 9,200 27% 9,200 27% 9,200 27% 9,200 27% 9,200 27%
BERE-—EBAE JAC BERE-—EBAE 10,200 27% 10,200 27% 10,200 27% 10,200 27% 10,200 27%
ERE—ZERE JAC BERE—ERS 18,250 25% 18,250 25% 18,250 25% 18,250 25% 18,250 25%
BERE—4XKBE| JAC |ERE—HKBER 22,350 24%| 22,350 24%| 22,350 24%| 22,350 24%| 22,350 24%
BERE—5# JAC BERE—5# 23,500 24%| 23,500 24%| 23,500 24%| 23,500 24%| 23,500 24%
BEXE-ERE| JAC |BEXKE-ERE 6,800 28% 6,800 28% 6,800 28% 6,800 28% 6,800 28%
TEAE—E2E| JAC |BEAE—#EZE 9,750 27% 9,750 27% 9,750 27% 9,750 27% 9,750 27%
%ﬁ% —HXkBE JAC EEXE-—MKBEL 12450 26% 12,450 26% 12,450 26% 12,450 26%| 12,450 26%

Aﬁ;ﬂ_ T IENTYG) BEXE—5H 8,000 59% 8,000 59% 8,000 59% 8,000 59% 8,000 59%
" JAC Bi#— ik BE 4,450 56% 4,450 56% 4,450 56% 4,450 56% 4,450 56%
L5 i 12,450 58%| 12,450 58%| 12,450 58%| 12,450 58%| 12,450 58%

BERE—5H JAC BEERE—5H 14,600 26% 14,600 26% 14,600 26% 14,600 26%| 14,600 26%
TERKE-EH JAC MEEKRE—HFKBRE] 9,200 45% 9,200 45% 9,200 45% 9,200 45% 9,200 45%

JAC Kk BE— G5k 5,400 46% 5,400 46% 5,400 46% 5,400 46% 5,400 46%

(k RER] 5t 14,600 46% 14,600 46% 14,600 46% 14,600 46%| 14,600 46%
HKBRE -5 JAC HKkBE -5k 7,150 29% 7,150 29% 7,150 29% 7,150 29% 7,150 29%
HE (25 JAC HE (25 9,550 22% 9,550 22% 9,550 22% 9,550 22% 9,550 22%

*+++7/13-8/31:Ef

BI5IED: BEH [KATBEF ML
BISIEQ: E—VHMIK AL BEET 5L



JTA/RAC

EEEAR ;. 2012/5/3 -~

1/1-5
=R B4 - Mz)é\ - = M?B’% — 947@9 - - 347D — M7Ei§
wam ERE mow W% gy SRE mom B | gog IRE Gom  BE | gap SRE mow 05| gom SRE gow 6%
s onm) =+ oo | 8 (BRFR) FENUO70 | BTH | 35,800 12% BI1H [33,100] 19% 3EEI 31,900 22% — [T — — [ — [ —
NUO078| &TH 35800[ 12% BIE [33,100] 19% 3E Al 31,900 22% — [ — [ — — [ — [ —
K o) =+ e | 548 (AT 6| NU084 | 3H & | 30,000 | 12% 3H#T (28700 16% 3EAI 28400 17% — [T — — [ — [ —
mmE=r@H | @R |[NU0ST| 3AHT 23,500 15% 3E AT 22,300 19% 3E R 21,800 21% — | — | — [ —— | —
NU053 | 3B 31l | 23,500 15% 3HHT (22,300 19% 3ERAI 21,800 21% — [T — — [ — [ —
NUO57 | 3B 31 | 23,500 15% 3HE@] [22300] 19% 3E Al 21,800 21% — [ — [ — — [ — [ —
NUO61 | 3B 1 | 23,500 15% 3HHT (22,300 19% 3EAI 21,800 21% — [T — — [ — [ —
NU063 | 3B 1 | 23,500 15% 3HEH] [22,300] 19% 3E Al 21,800 21% — [ — [ — — [ — [ —
NU065 | 3B il | 23,500 15% 3HHT (22,300 19% 3ERI 21,800 21% — [T — — [ — [ —
8 (BB % NU050 | 3H A | 23,500 15% 3HE#T [22,300] 19% 3EAI 21,800 21% — [ — [ — — [ — [ —
NUO52 | 3B 31 | 23,500 15% 3HHT (22,300 19% 3EAI 21,800 21% — [T — — [ — [ —
NUO54 | 3B 31 | 23,500 15% 3E#] [22,300] 19% 3E Al 21,800 21% — [ — [ — — [ — [ —
NUO56 | 3B il | 23,500 15% 3HHT (22,300 19% 3EAI 21,800 21% — [T — — [ — [ —
NU060 | 3B 1 | 23,500 15% 3HEHT [22,300] 19% 3EAI 21,800 21% — [ — [ — — [ — [ —
NU062 | 3B il | 23,500 15% 3HHT (22,300 19% 3EAI 21,800 21% — [T — — [ — [ —
R CAE) =7F1E| 8UR CRE) %[ NU071 | 3E#] 47,200 20% 3HE @i 38,300 35% 3E Al 36,300 39% — [ — [ — — [ — [ —
NUO073 | 3B Bl | 47,200 20% 3H i 38,300 35% 3EI 36,300 39% — [T — — [ — [ —
FiEH [NU070| 3EHE] [47,200] 20% 3E @7 38,300 35% 3E Al 36,300 39% — [ — [ — — [ — [ —
NUO078 | 3B Bl | 47,200 20% 3H i 38,300 35% 3ERI 36,300 39% — [T — — [ — [ —
W CRE) =2 | 8Ux CHE) %[ NU021 | 3E#] 44,000 21% 3HE @7 38,000 32% 3E Al 36,000 35% — [ — [ — — [ — [ —
EE % | NU022 | 3EBIT | 44,000] 21% 3HHT (38,000 32% 3EAI 36,000 35% — [T — — [ — [ —
KR (B76) =718 A BR (BI7E) % | NU083 | 3E & | 37,000 24% 3E @I 35400 27% 3E Al 34,900 28% — [ — [ — — [ — [ —
FIEFE |NU0B4| 3HH] [37.000 24% 3E | 35400 27% 3EAI 34900 28% — [T — — [ — [ —
M= (R /AT  [NU031| 3EET 31,000 24% 3H @7 [30,000] 26% 3E Al 28,100 31% — [ — [ — — [ — [ —
48 (FRE) 5| NU038 | 3E A | 31,000 | 24% 3HHT [30,000 26% 3EAI 28,100 31% — [T — — [ — [ —
2amm) -pamn| BEE (P %] NU251 | 3EBI | 32,400 16% 3E#I 30,800 20% 3E# 30200 22% — | — | — — | — | —
NU253 | 3Bl | 32,400 16% 3HHI (30,800 20% 3EAI 30,200 22% — [T — — [ — [ —
NU255 | 3B BTl | 32,400 16% 3H Al 30,800 20% 3H#T 30,200 22% —— | —— | — [N J— R —
NU257 | 3Bl | 32,400 16% 3HHI (30,800 20% 3EAI 30,200 22% — [T — — [ — [ —
8 (BB %6 NU252 | 3E AT | 32,400 | 16% 3HE @7 [30,800 20% 3E Al 30,200 22% — [ — [ — — [ — [ —
NU254 | 3B Il | 32,400 16% 3H I (30,800 20% 3EAI 30,200 22% — [T — — [ — [ —
NU256 | 3B B | 32,400 16% 3HE @7 30,800 20% 3E Al 30,200 22% — [ — [ — — [ — [ —
NU258 | 3Bl | 32,400 16% 3H I (30,800 20% 3EAI 30,200 22% — [T — — [ — [ —
W =348 (¥ | FELLUFE | NUOTT| 3BT | 27,000 21% 3E @I 26,000 24% 3E Al 24,000 30% — [ — [ — — [ — [ —
48 (BB 5| NUO16 | 3E AT | 27,000 21% 3EHI 26,000 24% 3EAI 24,000 30% — [T — — [ — [ —
i GBIV =718 748 (AR8R) | NU601 | 3ET A | 18,600 | 19% 3HH] [ 17,000 26% 3E Al 16,300 | 29% — [ — [ — — [ — [ —
NU603 | 3B il | 18,600 19% 3HHT 17,000 26% 3ERI 16,300 29% — [T — — [ — [ —
NU605 | 3B i | 18,600 19% 3HEH] [ 17,000 26% 3E Al 16,300 | 29% — [ — [ — — [ — [ —
NU609 | 3B i | 18,600 19% 3HH 17,000 26% 3ERI 16,300 29% — [T — — [ — [ —
NU611| 3B | 18,600 19% 3HH] [ 17,000 26% 3E Al 16,300 29% — [ — [ — — [ — [ —
NU613 | 3Bl | 18,600 19% 3HH 17,000 26% 3ERI 16,300 29% — [T — — [ — [ —
NU615 | 3B A1 | 18,600 19% 3H@] [ 17,000 26% 3E Al 16,300 | 29% — [ — [ — — [ — [ —
NU619 | 3E Il | 18,600 19% 3HHI 17,000 26% 3ERI 16,300 29% — [T — — [ — [ —
NU623 | 3B A1 | 18,600 19% 3@ [ 17,000 26% 3E Al 16,300 29% — [ — [ — — [ — [ —
NU625 | 3B Bl | 18,600 19% 3HH 17,000 26% 3ERI 16,300 29% — [T — — [ — [ —
FRiEH [NU070| 3HH] (18,600 19% 3HH] [ 17,000 26% 3E Al 16,300 | 29% — [ — [ — — [ — [ —
NU604 | 3B BT | 18,600 19% 3HH 17,000 26% 3ERI 16,300 29% — [T — — [ — [ —
NU606 | 3B A1 | 18,600 19% 3HH] [17,000] 26% 3E Al | 16,300 29% — [ — [ — — [ — [ —
NU608 | 3B Bil | 18,600 19% 3HH 17,000 26% 3EAI 16,300 29% — [ — — [ — [ —
NU612 | 3B 31 | 18,600 19% 3HH] [ 17,000 26% 3E Al 16,300 29% — [ — [ — — [ — [ —
NU614 | 3B B | 18,600 19% 3HH 17,000 26% 3EAI 16,300 29% — [T — — [ — [ —
NU616 | 3E1Bif [ 18,600 19% 3HH] [ 17,000 26% 3E A | 16,300 29% — [ — | — — | — | —
NU618 | 3B i | 18,600 19% 3HH 17,000 26% 3EAI 16,300 29% — [T — — [ — [ —
NU084 | 3Bl [ 18,600 19% 3HH] [ 17,000 26% 3E A | 16,300 29% — [ — | — — | — | —
NU622 | 3B BT | 18,600 19% 3HH 17,000 26% 3ERI 16,300 29% — [T — — [ — [ —
NU078 | 3Bl [ 18,600 19% 3HA] [ 17,000 26% 3E A | 16,300 29% — [ — | — — | — | —
NU626 | 3B Bl | 18,600 19% 3HH 17,000 26% 3EAI 16,300 29% — [T — — [ — [ —
NU628 | 3E1Bi | 18,600 19% 3H@] 17,000 26% 3E A | 16,300 29% — | — | — — | — | —
o (BFR) == | 58 (ARFA) | NU551 | BiITH | 9.200 | 47% 818 [ 6.200 | 65% B [ 5200 | 70% 3EA | 4200 76% 7E8] | 3,400 | 81%
RAC801| BITH [9.200 | 47% BIH | 6,200 | 65% BIH | 5200 [ 70% 3ERI | 4,200 [ 76% 7HRI | 3,400 [ 81%
NU557 | &TH | 9.200 | 47% B1H [ 6.200 | 65% B [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
NU559 | BTH [ 9.200 | 47% B1H | 6.200 | 65% B | 5200 | 70% 3ER | 4200 | 76% 7E1 R | 3,400 | 81%
NU561| &TH | 9,200 | 47% B1H [ 6.200 | 65% BIE [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
NU563 | BTH | 9.200 | 47% B1H | 6,200 | 65% B | 5200 | 70% 3ER | 4200 | 76% 7B R | 3,400 | 81%
NU567 | &TH | 9.200 | 47% B1H [ 6.200 | 65% B [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
NU571[ BTH [ 9.200 | 47% B1H | 6.200 | 65% B | 5200 | 70% 3ER | 4200 | 76% 7E R | 3,400 | 81%
NU573| BTH [ 9.200 | 47% B1H | 6.200 | 65% BIE [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
=E&% [NU552[ AiTE [ 9.200 | 47% B1H | 6,200 | 65% BiIE | 5200 | 70% 3E R | 4200 | 76% 7E 8 | 3,400 | 81%
NU556 | &TH | 9,200 | 47% B1H [ 6.200 | 65% B [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
NU558 | BiTH | 9.200 | 47% B1H | 6.200 | 65% B | 5200 | 70% 3ER | 4200 76% 7E R | 3,400 | 81%
NU560 | ATH | 9.200 | 47% B1H | 6.200 | 65% B1H [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
NU562 | BiTH | 9.200 | 47% B1H | 6.200 | 65% B | 5200 | 70% 3ER | 4200 | 76% 7E R | 3,400 | 81%
NU564 | BTH | 9,200 | 47% B1H | 6.200 | 65% B [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
NU568 | AiTH | 9.200 | 47% B1H | 6.200 | 65% B | 5200 | 70% 3ER | 4200 | 76% 7E R | 3,400 | 81%
NU572| BTH [ 9,200 | 47% B1H | 6.200 | 65% B [ 5200 | 70% 3EAT | 4200 | 76% 7E8T [ 3,400 | 81%
RAC804| BITH [ 9200 | 47% BIH | 6,200 | 65% BIH | 5200 [ 70% 3HERI | 4,200 [ 76% 7HRT | 3,400 [ 81%
Eh=AIE | =&% |RAC83I| AIH | 9.800 @ 18% BIE | 9,600 [ 19% BIE | 9.400 | 21% — [ — [ — — [ — [ —
RAC833| BiIH | 9,800 | 18% BIE | 9,600 [ 19% BIH | 9400 | 21% — [ — [ — — [ — [ —
RAC837| BiIH | 9.800 | 18% BIH | 9,600 [ 19% BIH | 9400 | 21% — [ — — [ — [ —
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